Supplemental Fig. 1. Error on A¥C as a function of coral age, calendar age error, and radiocarbon age
error. Error on AC is calculated as a function of relative calendar age error for corals of three
different ages. The dashed line is for a of £0.0002 based on calcite blanks and the solid line is for a

error of £0.0007 based on measured deep-sea corals.
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https://www.sciencedirect.com/topics/earth-and-planetary-sciences/calendar
https://www.sciencedirect.com/topics/earth-and-planetary-sciences/calcite
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